Appurtenance-PRO Fredsert Data Installation Data

A
Part # ot D NS ol e e Mo e dased  wn o Me TR
art Code thesd - Toor T fem On) Ol el e Deplfopmer  GXF R° Temus
GBAMRT407-8125-5T-20 659 M4X0.7 THRU 25.00 12.70 20.00 N/A N/A M8x1.25 750 500 6.70 11mmHEX C2 15
GBAMRT407-8125-55-15 657 | M4X0.7 10 20.00 12.70 15.00 N/A N/A M8x1.25 750 500 6.70 11mmHEX C2 15
GBAMRT407-8125-5T-28 660 | M4X0.7 THRU 33.00 12.70 28.00 N/A N/A M8x1.25 750 500 6.70 11mmHEX C2 15
GBAMRT407-8125-5T-15 658 M4X0.7 THRU 20.00 12.70 15.00 N/A N/A M8x1.25 750 500 6.70 11mmHEX C2 15
GBAMRT508-1015-9T-11 661 M5X0.8 THRU 20.14 15.02 11.14 N/A N/A M10x1.5 11.50 9.00 850 13mmHEX C5 60
GBAMRT508-1015-9T-35 664 | M5X0.8 THRU 44.00 15.02 35.00 N/A N/A M10x1.5 11.50 9.00 850 13mmHEX C5 60
GBAMRT508-1015-9T-15 662 | M5X0.8 THRU 24.00 15.02 15.00 N/A N/A M10x 1.5 11.50 9.00 850 13mmHEX (5 60
GBAMRT508-1015-9T-40 665 | M5X0.8 THRU 49.00 15.02 40.00 N/A N/A M10x1.5 11.50 9.00 850 13mmHEX C5 60
GBAMRT508-1015-9T-28 663 | M5X0.8 THRU 37.00 15.02 28.00 N/A N/A M10x1.5 11.50 9.00 850 13mmHEX C5 60
GBAMRT508-1015-9T-8 666 | M5X0.8 THRU 16.89 15.02 789 N/A N/A M10x1.5 11.50 9.00 850 13mmHEX (5 60
GBAMRT610-12175-9S-100 667  M6X1.0 18 109.00 1848 100.00N/A  N/A M12x1.75 11.50 9.00 10.20 16 mmHEX C7 110
GBAMRT610-12175-9S-40 670 M6X1.0 18 49.00 1848 40.00 N/A N/A M12x1.75 11.50 9.00 10.20 16 mmHEX C7 110
GBAMRT610-12175-9T-13 = 675 M6X1.0 THRU 22.00 1848 13.00 N/A N/A M12x1.75 1150 9.00 10.20 16 mmHEX C7 110
GBAMRT610-12175-9T-16 = 679  M6X1.0 THRU 25.00 1848 16.00 N/A N/A M12x1.75 11.50 9.00 10.20 16 mmHEX C7 110
GBAMRT610-12175-9T-24 683 M6X1.0 THRU 33.00 1848 24.00 N/A N/A M12x1.75 11.50 9.00 10.20 16 mmHEX C7 110
GBAMRT610-12175-9T-28 687 M6X1.0 THRU 37.00 1848 28.00 N/A N/A M12x1.75 1150 9.00 10.20 16 mmHEX C7 110
GBAMRT610-12175-9T-40 = 691 M6X1.0 THRU 49.00 1848 40.00 N/A N/A M12x1.75 11.50 9.00 10.20 16 mmHEX C7 110
GBAMRT610-12175-9S-30 668  M6X1.0 15 39.00 1848 30.00 N/A N/A M12x1.75 11.50 9.00 10.20 16 mmHEX C7 110
GBAMRT610-12175-9S-50 672 M6X1.0 18 59.00 1848 50.00 N/A N/A M12x1.75 1150 9.00 10.20 16 mmHEX C7 110
GBAMRT610-12175-9T-14 676  M6X1.0 THRU 23.00 1848 14.00 N/A N/A M12x1.75 11.50 9.00 10.20 16 mmHEX C7 110
GBAMRT610-12175-9T-19 = 681 M6X1.0 THRU 28.00 1848 19.00 N/A N/A M12x1.75 11.50 9.00 10.20 16 mmHEX C7 110
GBAMRT610-12175-9T-25 684 M6X1.0 THRU 34.00 1848 25.00 N/A N/A M12x1.75 1150 9.00 10.20 16 mmHEX C7 110

GBAMRT610-12175-9T-30 688  M6X1.0 THRU 39.00 1848 30.00 N/A N/A M12x1.75 1150 9.00 10.20 16 mmHEX C7 110




Fredsert Data

A

Minimum

Installation Data

; Head Min Min Class 6H Min Min Ta
Part # oo GERERE E B OB S EEe w owr i
GBAMRT610-12175-9T-50 692 M6X1.0 THRU 59.00 1848 50.00 N/A N/A M12x1.75 11.50 9.00 10.20 16 mmHEX C7 110
GBAMRT610-12175-95-35 669 M6X1.0 18 44.00 1848 35.00 N/A N/A M12x1.75 11.50 9.00 10.20 16 mmHEX C7 110
GBAMRT610-12175-95-77 673 M6X1.0 18 86.00 1848 77.00 N/A N/A Mi12x1.75 11.50 9.00 1020 16 mmHEX C7 110
BAMRT610-12175-9T-15 677 M6X1.0 THRU 24.00 1848 15.00 N/A N/A M12x1.75 11.50 9.00 10.20 16 mmHEX C7 110
GBAMRT610-12175-9T-20 682 M6X1.0 THRU 29.00 18.48 20.00 N/A N/A M12x1.75 11.50 9.00 10.20 16 mmHEX C7 110
GBAMRT610-12175-9T-27 686 M6X1.0 THRU 36.00 1848 27.00 N/A N/A M12x175 1150 9.00 10.20 16 mmHEX C7 110
GBAMRT610-12175-9T-35 689 M6X1.0 THRU 49.00 1848 35.00 N/A N/A M12x1.75 11.50 9.00 10.20 16 mmHEX C7 110
GBAMRT8125-1420-11T-16 702 M8X1.25 THRU 27.00 20.79 16.00 N/A N/A M14x2.0 13.50 11.00 12.00 18 mmHEX C12 130
GBAMRT8125-1420-11T-28 707 M8X1.25 THRU 39.00 20.79 28.00 N/A N/A M14x2.0 13.50 11.00 12.00 18 mmHEX C12 130
GBAMRT8125-1420-11S5-64 695 M8X1.25 15 75.00 20.79 64.00 N/A N/A M14x20 13.50 11.00 12.00 18 mmHEX C12 130
GBAMRT8125-1420-11T-14 699 M8X1.25 THRU 25.00 20.79 14.00 N/A N/A M14x2.0 13.50 11.00 12.00 18 mmHEX C12 130
GBAMRT8125-1420-11T-23 705 M8X1.25 THRU 34.00 20.79 23.00 N/A N/A M14x2.0 13.50 11.00 12.00 18 mmHEX C12 130
GBAMRT8125-1420-11T-8 708 M8X1.25 THRU 18.89 20.79 789 N/A N/A M14x2.0 13.50 11.00 12.00 18 mmHEX C12 130
GBAMRT8125-1420-11S-68 697 M8X1.25 15 79.00 20.79 68.00 N/A N/A M14x20 13.50 11.00 12.00 18 mmHEX C12 130
GBAMRT8125-1420-11T-15 701 M8X1.25 THRU 26.00 20.79 15.00 N/A N/A M14x2.0 13.50 11.00 12.00 18 mmHEX C12 130
GBAMRT8125-1420-11T-24 706 M8X1.25 THRU 35.00 20.79 24.00 N/A N/A M14x2.0 13.50 11.00 12.00 18 mmHEX C12 130
GBAMRT8125-1620-1455-100 709 M8X1.25 15 1145 20.79 100.00N/A N/A M14x2.0 17.50 1450 14.00 20mm HEX (C58 225
GBAMRT8125-1420-11S-100 693 M8X1.25 15 111.0020.79 100.00N/A N/A M14x20 13.50 11.00 12.00 18 mmHEX C12 130
GBAMRT8125-1420-11T-11 698 M8X1.25 THRU 22.14 20.79 11.14 N/A N/A M14x2.0 13.50 11.00 12.00 18 mmHEX C12 130
GBAMRT1015-1620-1455-12 649 M10X1.5 16 26.50 23.10 12.00 N/A N/A M16x20 17.00 1450 14.00 20mm HEX (C58 225
GBAMRT1015-1620-145T-28 652 M10X1.5 THRU 4250 23.10 28.00 N/A N/A M16x2.0 17.00 1450 14.00 20mmHEX (C58 225
GBAMRT1015-1620-145T-10 650 M10X1.5 THRU 2450 23.10 10.00 N/A N/A M16x2.0 17.00 1450 14.00 20mm HEX (C58 225
GBAMRT1015-1620-145T-5 653 M10X1.5 THRU 19.50 23.10 500 N/A N/A M16x2.0 17.00 1450 14.00 20mm HEX (C58 225




Fredsert Data Installation Data

A

D 'Efecive. Overall Head Head

Part # Thead  Ijvead Length | D) et

mm) (mm)
GBAMRT1015-1620-1455-10 M10X1.5 16 24,50 23.10 10.00 N/A N/A M16x2.0 17.00 1450 14.00 20mmHEX (C58 225
GBAMRT1015-1620-145T-20 M10X1.5 THRU 34.50 23.10 2000 N/A N/A M16x20  17.00 1450 1400 20mmHEX C58 225
GBAMRT12175-2025-17T-28 M12X1.75 THRU 45.00 28.88 28.00 N/A N/A M20x2.5 19.50 17.00 175 25mmHEX C29 350

GBAMRT12175-2025-17T-12.7 M12X1.75 THRU 29.70 28.88 1270 N/A N/A M20x25 19.50 17.00 175 25mmHEX C29 350




